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Dense Passage Retrieval

Retriever - DPR

P e e

[; Batch_size
() = N
,
@ Cross
IIE'_] : Dot- DdeLlEt :Z’. ____________ Entropy
=1 ! o — S loss
[1] Generated ! (T cos
2] Original 4:—[ encoder ]—» 0 _|\|_‘ _|\|_‘ /
- HZ-EAMQ| Similarity « In-Batch Cross Entropy loss
_|_ — —
E(qlap@ in’17 ce in,n)
: _ T
sim(q, p) = Eq(q)” Ep(p) sim(qi o)
= —log
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[Social Security]

= ‘48 718]

T5-BASE

[Input]

<hl> REEl | <hl> can help
yvour family if you have earned
enough Social Security credits
through your work

[Generation output]

“What can help your family if you have earned enough

> Social Security credits through your work?”

Answer .

AE|E]

[Social Security ]
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[AE[E| 7] BE| & Cl2} 48 7H ]

Passage
How to change your beneficiaries or reduce, turn down, or restore
your SGLI coverage If you re a member of the , Navy, Air
Force, Marines, Coast Guard, please submit your changes online
through the SGLI SOES...
_|
¥
Passage : _— oo
Q
Can | get disability benefits from VA? You may be able to get g

disability benefits if you have a disability believed to be caused by
contact with mustard gas or lewisite and your military record

shows you had contact with mustard gas or lewisite. If you were
in the and served in these places : , Italy Bushnell...

Generated Question

IQuestion 1 : "Which military branch does the
SGLI Online Enrollment System apply to? |
Answer1 : |

Question 2 : ~~~
Answer? :

Generated Question
ﬂ)uestion 1~~~ \

Answer 1 :
Question 2 : ~~~
Answer 2
Iauestion 3 : “Where was the Camp
ILejeune located?”

Multi-turn Dialogue

Question 1 \ ‘\I

"Which military branch does the SGLI Online Enrollment System :— -
apply to? ) I
__________________________ I
l |
| Question 2 i
|\"Where was the Camp Lejeune located?” !
- s

Augmented Input Data

Current_utterance : Question 1

—_—

Utterance_History : Question 1,
Current_utterance : Question 2
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Dense Retrieval 57t Al

EERIEY

Hi X| AtO|=-128, St&&- 2e-05, Optimizer-Adam, In Batch negative
Epoch - baseline ! L@l £ . 30 epoch, AN SHE : 10 epoch
Dataset - MultiDoc2Dial

Metric - MRR(Mean Reciprocal Rank) , R@K (Recall at top-k)
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[52 HIO|E| APHetES S 371t DPR 5]

RoBERTa-base

Pretrain with Data Augmentation
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MRR
58.97

7|Z HIOIHZ OjM =7

Number of Augmented Data

« MRRX|E®HO 4
.+ 3Z ool #

10,000
20,000
30,000
40,000
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60.35

ot Za
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MRR
60.11

60.19
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2 Mg 2

Recall@1
46.11

I baselineEC} =2 M5 =l

Recall@1
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